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Problem Set 2

Due Date: 10/10 (Day 6)

Points to note:

1. No need to copy questions into the answer book.

2. No need to stick this sheet onto the answer book.

3. Leave a blank line for every new answers in short/structured questions

4. Be punctual. Your effort is most appreciated.

Multiple choice: Please choose the best option

1. Which of the following about scarcity is correct?

A. Rich countries do not face the problem of scarcity

B. Scarcity is a relative concept

C. Scarcity does not exist if there is only one person in the world

D. Scarcity arises because of opportunity cost

2. Free-of-charge football match broadcasts in public areas are ________ goods, because _________ . 

A. free…the viewers do not need to pay for them

B. free…no opportunity cost is involved in watching them

C. economic…more of them are preferred

D. economic…they provide satisfaction for the viewers

3. Which of the following are correct descriptions of Hong Kong?

(1) Resource allocation reflects the preference of consumers to a large extent.

(2) All productive resources are privately owned.

(3) The problems of resource allocation are partly tackled by central planning and decisions.

(4) Public transport service is provided by private firms only.

A. (1) and (2) only

B. (1) and (3) only

C. (2) and (4) only

D. (3) and (4) only

4. In a Sunday afternoon, David can work as a cashier in a shop to earn $30 per hour, or assemble a computer and earn a total of $300. He finally spends 3 hours on watching a football match in the Hong Kong Stadium. The ticket price is $200. What is his opportunity cost of watching the football match?

A. $200

B. $290

C. $500

D. $590

5. Microeconomics and macroeconomics exists because

A. They are the study of how human beings make choices in using their limited resources to satisfy their unlimited wants.

B. They are different schools of thought in explaining human behaviour.

C. They are competing theories, with macroeconomics being more important than microeconomics.

D. They have different emphases, with macroeconomics studying the overall level of the circular flow of the economy.

Short Questions

6. South Korea and North Korea are usually cites as examples of market economy and planned economy respectively.

a) Explain any two differences between these two types of economic system. 

b) Give two disadvantages of these two types of economic system.

7. Suppose cigarettes are not allowed to be sold to teenagers who are aged under 18. Explain ONE basic economic problem which is involved. 

Answer key to problem set 2

1. B

2. C

3. B

4. C

5. D

6 a) In a market economy, most resources are privately owned. In a planned economy, most resources are owned by the government. In a market economy, most resources are allocated by price mechanism. In a planned economy, most resources are allocated by government planning and decisions.

comments

-did not emphasize the difference, only states the feature of a economic system

b) In a planned economy, resources might be allocated to produce goods which are not desired by consumers, and workers would have little incentive to work.

In a market economy, the provision of public goods such as national defense or an amusement park may be ignored by private enterprise, and the pollution problem might be ignored.

comments

Market economy

-Illegal transactions

-producers would set a higher price to maximize their gain

-quality of goods may be lower

-poor people could not buy the goods

-resources will not be evenly distributed

-monopoly will arise

Illegal transactions would not happen when property rights are well protected. In market economy, a producer faces the market demand, if he sells low quality goods, he will lose the market share, selling at a very high price would have the same result. 

In every economic systems, uneven distribution must exist, so the problem of poor people could not buy the goods should not be counted as a disadvantage. 

planned economy

-will not be advanced

-people have no rights to authorize/ no freedom 

-production is not as efficient as in the market economy

-economy develop slowly

-uneven distribution of goods

-less improvement in technology

it is too vague to say that the economy would develop slowly or will not be advanced…I would like to know the reason behind, which disadvantage would result in a badly performed economy. 

Freedom is not something against a planned economy. But it is true that an individual might not have a lot of choices in consumption under planned economy. Uneven distribution of goods happens in all economic systems, it should not be counted as the disadvantage of planned economy.

please don’t draw a table for me, although it is a clear presentation indeed. Try to use well titled paragraphs to answer questions.

7. It is the ‘For whom to produce’ problem. The policy sets age as the criterion which determines who is able to obtain the goods and who is not. 

comments

-opportunity cost is not a basic economic problem

-just state the definition of ‘for whom to produce’

general comments

-don’t just copy definition without any analysis
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